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03.

04.

05.

06.

__ i

19 ,?
r-ﬂamﬂﬂww(m += ) a3 et (r + 1) ©F @38 (r + 2) OF A TR A I L™

Y T:; __ n-r+1 x (a+x)“ ﬁ,@m@] 4T(;—::1+1 19- ir:11)+1 (:ix)

= W I, 1“""r'11”.5_1_.;1:’=—=>57 3r = 2r + 2= 5r = 55 = r = 11 (Ans.)
ﬁﬂﬁﬁ.@wmemﬂ_—+uas+1.z.;_m+ o
W_+1235+1.2.:¢5J+"' =__|_|5+“"+' m=gl';—1+§|—;1+7l—_;+.,.m

= s et et gt 1—E+E—ﬁ+é—é+é—é+---m= e~ == (Ans.)

X—y+2 =0 @S @ ANYeE TS i Swd o 7171 *HIgead CFIrT (1, —1) e T o T
fefa ==

FATYI: ST AP x + y + k = 0, T (1, —1) Rpitsit e x-y+2=0
x+y=0..0(); x—y+2=0..(1)

A TR (i) 8 (ii) 93 @[9I

. A= (=1,1) - M(a,B) 8 S(1, —1) @3 T4 A M b
:,ﬂ=—1:m-—3 ‘ Bl 1=p=3

~M(@,pB)=(-33 432 2 _ (x=y+6)?
mmﬁﬁ;‘f x=1)*+({y+1) = %
- st x—y—(-3-3)=0=>x—-y+6=0 [ ~1$S AR FILT]

HAATYN T3 sind + sin20 +sin30 =1+ cosB+c0520;0<0<m

ANYI: sinB + sin20 +sin30 =1 4+ cosB 4+ cos20;0 <08 < =

= 25in 20 cos® + sin20 = 2 cos? 0 + cosO = sin20 (2cos0 + 1) = cos6 (1 + 2cos0)
= (1 + 2cos0)(sin20 —cosf) =0 .. T 1 + 2cos6 = 0

I?l

1 2 2N 2t T on
=> cos0 = -—-E::»cusEI:r:ns?“; 0 =2nn i— . 0 =iz (ﬁms)

ST, sin20 — cosB = 0 ; 2sin® cos® — cos® = 0 => cosB (25in0— 1) =0 .. cosB=0=0 = (2n + 1)%
9], sinf = % => sinf = SinE =0 =nn+ (_l)nE
" =y 2 ordte @, Y (nlogx"1) i n 9B FIF !

y"*1(nlogy-1)’

[QTT, log(x) =it m‘ﬂ‘lﬁ Inx FHTAT JCACR 1]
YA y" In(x) =x"In(y) ... ... .. () = ny“'l.d—?. In(x) + }r“l = nx""lny + x

nldy

y dx
dY( n-1 n) — pyh-1 y" dy _ ¥ nx" ln y-y"
= —— |ny .In(x) . nx""*lny —- = dx A
dy e n}rﬂlnx-}r n _.n 1{“1713-1] .
= =L R iy Inx = " Iny) = = ey () TR
/4 sin 2x dx
e wF Rda s [/
sin®* x+cos* x
},4_ In 2x dx /4 sln2xdx /4 2ta )
W' n sin 2x [T —4—‘:“_{; - __qm nX Secy 2, _
*J’D sin* x+cos*x Iﬂ Sin"!+:'us“;"_' jﬂ. tan® x+1 dx [ﬂﬁ, tan“x Z]
cos*x

x=0—=2z2=0
L—qu—l

]:bZtanxser: xdx =dz . _['u +2t;lz—[tzm ]&=-E(Ans.)




07. 6 '8 8metres Wiﬁmmﬁﬂkgwaﬁmmmﬁ@lﬁmﬁﬁw1Umetress‘?l‘f
GFT6 ACET H2 AT I §ite )| 760 Gwei TR @ 78T F6ba T B At e w@gH I | TomeEE oiF

fRdo s
FANY: AD = DB, ZC = 90° [+ 62 + B? = 10?]
DE||AC .. DE=>AC=3m .. BE = EC = 4m.

ZDEC=190° . DC= \f4=+32-5n1

5 4x60
aﬁﬁa—mﬁﬂﬁ‘r@:@m— T_, =T ==
T, = == = 36 kg — wt

08. OI WIS @ FH S 15 km/hr Q@0 Be7 T a1 ©F 961 1 @ ©FTOR ©fF 4@ 10km L A G106
TR (TS 571 TS SR 20 km/hr @01 AW s QoR1 FOFY 9 ©ITAd A Gag PTod 09 ? Ol

T T[S 1§ T57
T thr #9789 = /(1562 + (10 — 20t)?
= v625t2 — 400t + 100 = J(zsr. —8)% + 62

f

. QWY I = 6 km; t—-—hr-192mm

N

15t

B
20t E
O

10 km.

"'-n-"‘

09. T ICCST GFH c:ﬁa sumﬁmﬂw 20 T F64, 25%%@&?&10&—-{%’?@ C4TAT | SItAE TG S

TP TSI [MLos 4 =1

(i) I 2@ TR0 QTE, O FoIE (1 AR F6?
(i) I 2@’ To3e AT, OF (S0 (3T™ AR_A F62

WP(F)=20'P(C) '—25' P(FNC)=10

P(FNC) _
(i) P(FIC) = 7002 = 12 =

= (Ans.) (i) P(CIF) = FPNG)

1
== (Ans.)

20

smidfRE (Written)

10. O35 IEE0 G0 AR ML 0.06m & FAR *F GF IR 4T AT JE0H GRHIER T SN FOq

2T 0O AFE?

Z

et (2) =v2—2fxons or, 2£x0.06 = v? ——=3% or, 21’—4::;:12.51:'2
LV ad. MR 2 £ B &

Again,0 = — 2fx— 12.5v4x x ..x--hus—D.OZm
Alternate _(-) = x = 0.02m

: (E)'"

11.  1.0g SEA 0 (SEEFT I8 55 W 09g T3 707 w4y 8 1 wiy R <91
W Y _a.m 01 693

A m = moe "t = '—lt--lnm—n—lnT t1 —T-1655 days
A =200 = 202 = 0,041865 day ™ = - = 23.886 days

*12. ﬁmmmmmcmﬁmmorﬁcﬂwmﬂ AR I 27°C IR {6 FTF TS | 0°C SIoN@d 100 kg
AATF 0°C SIAIAR JAF A0S TS T FIETH ST ZA? [T 1707 S[@o19t = 3.4x105] /ke]

SAI4H: Heat absorbed to transform water to ice, is,
Q, = mL; = 100x3.4x10°] = 3.4x107].
Engine works between 0°C and 27°C

S0,T, =0°C=273K, T, = 27 + 273 = 300K

. g: (Heat rejected, Q,)
=Q, ==xQ, = :—:-E-HS 4x107 = 3.736x107]
Work dune = Q; — Q; = 3.36x109]

Another Process,
For Refrigerator,

Efficiency, n = Tl;“ =228 = 0.0989
2

S W=n0Q, = nxmlg
= 0.0989x100x3.4x10° = 3.36x10°]




13. ‘
T, QTR ST SieiTe A
—YAUFy _ Agxoxdy 40l 1 o (2)E 14201
THNIS: F = L 'Fs LixAzxl;  BO ::’I; - 2}{1}{(1) * 2 1wyl
14, O TEPIUGIR 25 %7 TUCT 1.8x108ms 2 @t #Mer «FfB TR 508 I =t coiee | AR Remm
s 30%%@1%@ QT OfF ITT IO TI?
Tt = =; 30 = L >t, = 24 years .. 9T = (25 + 24)y = 49 years
JI% -5
15. 5 ohms @Y {2 a3t siawe G fomed g w41 20| 7T oAby @iy [dg 391
1 A
FY: T O =791 ) T O Ao G993 GFE1 L V= A1, = Ayl, oA, =P‘1ﬁ =
1 31 ]
UL CH R2=:;= P _9":—-93 =9x5 .. R, = 450
3 ¥
16. LS TN GFO TSI O3 (p, = 1.5) CFIPET AG Bem. TF @710 “ifAce (i, = 1.33) GRCT T &7 (HIH
WTW"
1
o= (=) G20 = () G-2) -0
B W - fw —_— (augnl) fw .- HE ‘ A . - " -
93, (i) + (ii) I g, Al g ey = BB =1 o fy =4, - f, = 32em [+ £, = Bcm)]
17. 9.1 x107"kg St G360 =g FEfFITE @' I 0.53x10710m I[P 36 JBFR N RRI T
EREEA U 9ot @7 @ @t [Refa =)
AAIYIF: Hydrogen 93 CFt@ 561 I,
_ e _ 1.6x10~1° _ 6o —1
Vo = J4REgmry - V4%3.1416x8.854x10~12x9,1x10~31x0.53x10-10 2.184x10"ms
ac = = = 8.9997x10%2ms? = 9x10?ms™?; o =¥ = 4.12x10%rad/s.
18. 3:-:10-1“1[: TS G CIAPIFIF (SEd @iora _Fﬁ' =< 500v. 3% a7y 76 @it fieT asl CiFRR
CFIOIT e <, O 8F (@ioR e f7eq 36 Ta? [€,= B.HS:{IU'”CZ/N —m?]
ANYF: C; = 4n €, 17, V4 = 500V, g, = 3x1071°C. C, = = 6x10~23Farad
Vi
2 B (FIBI SO T GBI TS HNIA sy = —L=53926mm
27k = 2x Zmr® = R= Y2r = 1.2599r
S C=4n €, R, Q = 2q, [Charge double Z[J T3]
2x3x10~10
" V - E = 4:-:3.1416!-:3.3541:11]_11:15.39253:1[1_3:-:1.25‘3"3 = 79371V
IEY (Written)
19.  27°C SN GF6 o IFTZ @I *ITTE Sires 100cm?. SoNEr 54°C-« I T4t 20 @7 biof fawd @ I
@R TS 59.3 em? | Fé7 @07 wimes =7
AAYE: Ty = 300k PiVy _ PoVy
Ty Tz
T, = 327k Px(100-x) _ 2Px(59.3—x)
— (100 — ¥)cm? oo = — o= 32700 — 327x = 600(59.3 — X)
V, = (59.3 — x)cm? = 32700 — 35580 = 327x — 600x
P, =P,P, = 2P = 600x — 327 = 35580 — 32700 ..x = 10.55cm?
[ sz R s




20.

21.

23,

24,

25.

500°C SN NO, 99 {qraew [feFae @ ¥39 2.4x10°3dm3mol 1 sec™!. 9@ 2 gaaay [feaitd

SEIEITE 15 minutes FI?
TyE: aft @30 e oy [Rfira | Qg 93 dmemol~! sec™?

1 1 1
t = — —_
oA, ty2 = tis2xk  15x60x2.4x10~3

(a) H; O ST (S Qe 5@ 1 H, 0+ ST tofst 2e7 5 7e1? comie Torm difesst orate |
T H, 00 @ AN q6fo (oI5 AT FTeardt IH0aa 4wy T& T (H,0: » HY )Hz0* 5167 30 | oroseid

H;0% @3 Y St @ fe (2o (H) AR I6E MO §& 2@ H, 07 (7 261 78I 79 3149 O A4

047 258 RTET W1 H,0: ¢ HY 11 tofF Tars o «ife eimmem)

frrti
(b) ST A CSTAR 4T FIW @6 Aren: 9 & | snifiet efres sigme Mgt & 62

FAYIA: HIO (RIG ST SIS — HiZF7s (H,N — CH — COOH)

H

BT (i) 9 RO I 47 I (1i) G CA2BIZT IR G caﬂ%ﬂ grokact
(iii) ifelo Sfic shifted AWE SRR ESLS pH AT |

(iv) aF ITC BIC TR QI FIF T30 AR | e @
T SR (=~ 140°C) € {7 Stommiy (0°C) e AEfFeR afStes st 2T oy & 906 ? [iene sy

s | B e &gy v TEfrele uffc f[Feig sz 3= orEd 941

0°C
HFA4I9: CH;CH,OH + HZSD.,,(Cunc ) == No Re action

= 0.4629 mole dm~2 (Ans.)

40°C
CH;CH,0H + H,S0,(Conc.) —1- CH; — CH, — 0 —CH,; — CH3 + H,0
X LEEVIEGENIES

100°C
@\"T‘Tﬁﬁ CHECHon + HESG.; - E— CHECHEO - SUgH + Hzo
140°C
CH;CH, — 0SO;H + CH;CH,0H —— CH3CH, — O — CH,CH; + H,50,

CIRAIZ0E ISR aargiaced Ruaesit M@= N,0,(g) = 2NO0,(g)
ARG 25°C SIENIAR S5 iod WS 517 JAFT Py, o, = 0.69 atm @32 Pyg, = 0.31 atm (a) IIF Kp @

K. @32 (b) U2 S CIZIRE IS Gargares f[earem Jar fdy =

Py 0.31)2
AMYE: N0, & 2NO0, 5 Ky = 02 — %atm = 0.139 atm

PH: O4

D -1 — —
Kp = Ke(RT)* = K, = oo = 5.68x10molL™

z K K 0.139
K. =2 p 2o _K_ P___ — - o= 0.183
P 1-qa? 1-a? P  Pyn,0,+PNO;,  (0.3140.69)

GNeT (AT YRGS STAGIRG T (Hz(g) + 12(g) = 2HI(g)) T &IF 600K SivmT 2.7x107*L/(mol.s)
W32 650K ST 3.5x10~3L/(mol. s). [Rferwiioa dfemm «ife, E, dg s

_ -Ea [1 1 3.5x1077 _ E;

AATH: lni—: =
GFT TR TOTH YROGIHN SR Tt 3.3x1072M. FF 079 pH 397 W5t {5 oy 71 =FAF? 99 pOH @3
T F© 3?2

T [H;07] = 3.3x1072M

pH = —log|H;0%] = —log(3.3x107%) = 1.4815 .. pH < 7 .. Hqe|ft =&
pOH = 14 — pH = 14 — 14815 = 12.52

o 7x10-%  B316 [Eﬂﬂ EE{J] = E; = 166.1898 K

Ao =g eIy Fava e, .




26.

27.

28.

GH; CH; CH:
H,C-C-CH, H,C-C-CH, H,C-C-CH,
conc.HNOj @-NO
d » 2
( ) @ conc.H2504 + @
NO,

CH3CH2CH,Cl
®) @ AlCl; @—CHZ — CH, — CH,

(c) CH3 = C=CHz +HBr - CH; - (IIBr — CH;

CH,4 CHa

(d) CH; — CH, — (T‘H — CH, T::: CH3; — CH = CH — CHj;
OH

(€) CHs — C = CH + Hy ————2, CH; — CH = CH,

Pb(OAC),

AIETFIT QT ATFORT bie age Fare [os & 9o (a) Rftrmetn B (b) Qrersi RidFm & a9iam o
fo1l; (o) o Rieraifbre Srxbres eries 2 o 5% 99; €3t (d) I9TS 997 GF{6 SEoC Ji 11

AAHE: S(s) + 0,(g) — SO0,(g) (&), (i)

250,(g) + 0,(g) - 2505(g) CE ) F— . (ii)

503 + H,0 — HyS0, RS G k|| GIEIE-T | [ (iii)

(i) 72 Rferaiitre aore 5o | LS TN SHFICAN CFBIHET (V,05) ST Pt 54|

2eeafe (Written)

Read the following passage and answer the question numbers 28-30 that follow:

It is better to have brain than beauty. While physical beauty is purely visual, the beauty of brain is all encompassing.
It is, therefore, a known fact that beauty is only skin-deep. Most beautiful people are just superficial; beneath their
exterior countenance lie nefarious qualities of jealousy, wickedness, pride and arrogance. What is worse is that
physical beauty is not as everlasting, for it declines with age and time. Thus what is at its peak in youth withers out
with age? It goes beyond recognition in old age. Contrary to this, our brain and mental faculty improves and grows
with age. We become wiser, morc experienced and people look up to us for advice and direction. Another important
aspect of the brain is that it is all pervasive. It spreads its influence over us in all that we do or say. Thus a person
with a pleasing mental disposition could leave a very satisfying influence on the people around him for a long time.
This is in sharp contrast to beauty that it by its glamour can only dazzle us but for a moment. No sooner is it out of
sight than its impact is gone forever. Some beauty also lives in vain, unnoticed and unsung; in the words of Thomas
Gray, "For many a flower is born to blush unseen. And waste its freshness on the desert air.” A noble mind on the
other hand, brings our beauty within. While beauty can enthrall us for the present, the brain with its inspiration can
reach out and influence the lives of countless people profoundly. This is exemplified in the life and travails of
Florence Nightingale. She could also have lived a normal life like other girls of her age, but she chose to reach out
the injured and suffering people. The maiden with the lamp not only brightened the lives of those she came in contact
with, but also blazed a new trail of the nursing profession.

The impact of our brain on our personality is nothing but an acknowledged fact. This is why, even at national and
international beauty pageants, an effort is made to gauge the intelligence of the participants.

Indicate, whether the following statements are true or false. If false, give the correct information.

(a) Exterior beauty is more admired than brain in the society. '

Ans : (False) The all-encompassing beauty of brain is more admired in society.

(b) The range of our wisdom and experience widens with the progress of time. Ans : True.
(c) Physical beauty gives us transitory pleasure. Ans : True.
(d) With time and age physical beauty enhances.

Ans ; (False) With time and age physical beauty deteriorates but wisdom enhances.

(e) Brain helps us to perform virtuous activities. Ans : True.
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29. Fillin the gaps with the correct form of verbs provided.

There Fﬂ) exists (exist) a difference between beauty and brain. Generally, physical beauty can (b) be visualized
(visualize) while brain (c) encompasses (encompass) everything, Had the earth produced many people with

developed brain, it (d) would have been (be) a better place to live in. But we are getting used to (e) seeing (see)
the opposite picture.

30.  Fill in the blanks with appropriate words to provide some information about brain and beauty’,
A point of noticeable difference between brain and beauty is that beauty pertains (a) to the present while brain

possesses the (b) ability to cross the obstacle of time. This is why, brain is (c) preferable to physical beauty. Time and
wisdom (d) go hand in hand, time advances and so (e) does wisdom.

NS + ARG + T + 2| (MCQ)

0L x*+y?+2x— 4y — 11 = 0 IGEIR SARFS (-1, —2) Frvrs =piraa il s
(Ay+2=0 b)y—-2=0 )x—2=0 (dx+2=0
FHI: (a); A Equation BT (—1, —2) g oo s =1 @bt

02. sec?(tan™2) + cosec?(cot™!3) I H F97?

(a) 15 (b) 10 ©)5 (d) 20
AN () ; 1+ (tantan™ ' 2) + 1 + (cotcot™3)2 =14+4+14+9=15

03. fATHE @IS @7 W 7R3 [[72(1 + cosx)? sinx dx
(a)3 () 3 ©7 (d)3
AT (b) ; Let, cosx =z .. —ff{l +2)’dz whenx=0,z=1,x =§,z =0

371
—sinx.dx =dz = _l'ni(l +z)?dz Changing lower limit to upper limit. = [(1":} ]D = %

04. W 2cos20+ 2v/2sind = 3 =, OIRE= OiﬂﬁgtﬂﬂWB*ﬂﬁW'{ﬁE

(a) 0° (b) 30° (c) 45° (d) 60°
AHIYA: (c) ; 2 — 25in? 0 + 2v/2sin6 — 3 = 0[cos?8 = 1 —sin? 6] =25in? 0 — 24/2sin®+ 1 = 0
. sing =2Z0_ 1 . g =450
05. V-81 YA ITS?
. 3 : 3 > V3 ;
(a) £ = (1 £1) (b) £ (1 +20) © 5@ +1) (d) =1+ i)

AR (2) ; x* = 8117 . x% = £9i==(1%i)? .'.x=i%(1;|:i)
06. A =2i+]—2k=3aIq_AE = 51 — 3] + 2k (S TP A3

1
(20 ®) () V2 (d) 1
FAYH: (d) ; Bcos0 = I; = m_:'_* =1
*07. fafi< S $912 11010000 = 1000
(a) 11001 (b) 10101 (c) 11010 (d) 11100

YA (c) ; By using calculator binary mood
08. kGATHFS T (k + 1)x% + 2(k + 3)x + 2k + 3 T a3 2jfasf =72

(a) 3,—2 (b) 2,3 (c)2,-3 (d)3,1

TAYS: () ; 4(k+3)2 —4(k+1)(2k+3)=0=>k*+6k+9—2k? —2k—3k—3 =0

= —k*+k+6=0 .. k=3,-2
09. TTA=R-(3},B=R-{1) GRE:A - B TR f(x) = :—:EWT[EE fre 237, ord £~1(0) 99 T F97
(a) -1 (b) 2 (c) -2 (d)1

FRTTT | N S

AfFaSrIa LI FAYa ube, ..




STARA: (b) 5 () = 522 = -1 () = 22

-1 inlower parttheconst.after (—)x x—upperconst.
Shortent method: ~(x) = x—coefficient of upperx

L FM0)=2; or, F0) =x =f(x) =0=>2==0 ~x=2
10. I TogrER Bl o1y Teiqaita qar oo wds | ofF Sl e w9

@2 OF ©)3 QF
T (d); 2 =a; H=l e 1-%=2
11. Thevalueufilﬂ (——x)tanxls
(a) 0 z (b) 1 (c) (d) -1
Wﬁl‘-‘{:(b);Letx=-E+h(h—>U) Llﬂ E_---h)t:an( +h)—11rn( lfn)(---«:r:.«th)—llmtEInh 1

12. O30 IS A O 19.5m/sec @0 Al AT fAre afire @IF T Sseconds #Itd IR AMme “Afow =)
TEoT Tl F67?
(a) 20 metre (b) 15 metre (c) 25 metre (d) 30 metre
T () ; h = —ut+>gt? = —19.5x5 +2x9.8x25 = 25m

*13. (6 AT AT SIS ©oF JA1% 9.5kg GO FoF F1 T GF TAF @Hfo B ewtg I8 o I FRILAIA
A ATF TR THITAT TOR | G T 0.2m/sec? 6T N #{1S{6 (ST ¢t I/HF SF TS
(2) 8.87kg (b) 9.8kg (c) 9.31kg (d) 9.5kg
AAHME: (¢) ; 9.5xg =x(g+ 0.2)(mg=m(g+£] .. x=931kg

14. y = 4x— x* IFEY 9 x-5F 919 @T© CFad CFage A

(a) -?sq. units (b) g-sq. units (c) %sq. units (d) gsq. units
AMYA: (€);y=4x—x2y=0 .. x=0,x=4
- CFERE = [ (4% — x2)dx = [Zx ——] =32-5=7

15. 6 & IS 8 4 T A TS S T G0 [Hive @It ofer o IR Twre @1 2 o9 iR St @
ARI2 AFATE O ST 457 T3 @O AiE?

(a) 110 .(b) 120 (c) 125 (d) 130
AIYA: (b) ; *C,x C; =120

16. f(x) =3x*+2 qRgR) = _|==T (fog)(5) &7 T =2
(a) 1 (b) 5 CF (d) -5
A (b) ; f() =3x3 + 2 gx) = EJ’T fog(5) =f(g(5)) =f(1) =3+2=5

17. kQITNIOTAXx—y+5=0, x+y—1=093 kx—y + 13 = 0 AT 0% II?

(2) 1 (b) 5 (c)7 (d)3
1 -1 5
JFaEE:(b); |11 1 —-1|=0=k=5
] k -1 13
18. A=|-1| @a2B=[1 2 3] == AB WILED T3
3
4 8 12 4 | |
(@) [4—2 9] (b) [—1 -2 —3] (c) [—2] : (d) [11]
3 6 9 9

TIYIA: (b) ; [3%1 into 1x3 so matrix will be 3x3, No need to solve]

19.  IFF AT ST @9 2.3%108ms ™1, IS ATATF AT D I TAe
(a) 8. = 90° (b) 8, = 50.1° (c) B, = 70° (d) 6. = 30°
HHIYH: (b) ; Ha = sinB, Ha = Ei- = 0.7667 = sinB. = 6. = sin"2(0.7667) .. 6, = 50.1°

%R 162 ﬂi ;_?._Ef-'f:_'_ o AfFaC T LSTH FaIg UG,
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20.

21,

*26.

27.

28.

29.

30.

16 ﬁﬂ\wﬁtﬁmmwu 3x10~12m & 123@?{{%%@7}:@?%%@9

(a) 6x107*?n (b) 12%10™'?m (c) 18x10~2m (d) 24x10~?m
1 1

FA: (a) ; 1 = :: Y= () =2 .y, = 2x3x107!2 = 6x10~2m
G0 FATTHNCITR SITR T 9 ¢t I AT I SIEA 9T 3 09 91 20 | FI0EA 5 AsT 71?2
(2) SR ARSI ™A (b) 31T 9 vd T (c) T 3 @9 (d) T - T
W(ﬂ) » QRITT O F7 9 o JIOITAT X1 IE0© IR I 9 0o Tl TR
=g R = & n2=3=118=0£=3,T,=T, T, =0T

27°C SN G0 1797 QoF 51w sifeifes 6.21x10721). 227°C SN G sifofes 2ras
(a) 11.35x107%3] (b) 9.35x10721] (c) 12.35x10-21] (d) 10.35x10721]
S (d) 5 By = 2KTy 5 E; = KT, n =2 =2 =1oF, = :-::E1 10.35x102Y

" Es T3 E 1 Ty

*ﬂﬁﬁ%ﬁﬁ—ﬁw 0.05m V¥ 9% BT (BT gere TS ﬁww (= BB = 72x10~3Nm™1)
(a) 7.2x107°N (b) 3.6x1073N (c) 1.4x103N (d) 7.2x10~*N

T (a) 3 T = =, QAT £ T T8F FORF 0747 Sre 1R =wnd e e
5 @, T=— =F = Tx2f = £ = 7.2x10~°N
70 Oacad A9 IAF | 932 41 | 9TF AR B Seifsiotton zre1 i 8 F4HY SI9e Z1e

(a) 51, 31 (b) 91, 31 (c) 51,1 (d) 91,1

. Imax _ JIi+/1z 2 Imax __ Val+y/1 2 X Imax 31 . Imax __ 9I
STNI- () ; we lmaw, Imin (\/‘E'E = Imin (m—*ﬂ) - Imin "ﬁ) "Imin 1
G0 BTN ST WG F9 50% e &0 U9 51 SIS F(3-
(2) 50% (b) 100% (c) 125% (d) 150%
W(c) JE J-"' _3; T2=T1+§T1=T1+1.25T1w31e125%
G M 1000Hz FITES = I 15m/s sifore a3t @aiEa ME geittR)1 *it5E &7t 340m/s =1 Aifniae
YT O AfoRg T -
(a) 1046 Hz (b) 954 Hz (c) 1092 Hz (d) 908 Hz
T (c); £ = - =% 1000 = 1092 Hz
650nm STACATI G0 STEFAY I ore S=ifes 2= 6 = 30° ¢ 2w 54y 9 sivewt 3| Bofa g z=:
(2) 320 nm (b) 1. 24 micrun (c) 6.5x10™*mm (d) 2.6x10"*cm
A44E: (b); dsin® =nA=d = sinzu° = uﬁiﬂ"m = 1.3 micron = 1.24p

2

(T AR CAFS SR SAS y = 1.5 ©F 107 S
(a) C, =3R (b) C, = 3R (¢) Cy =5R (d)Cp, = 5R

TR (b) ;Y =2 =2 C,—C, =R .. C; =3R
CFT T&9 Sifeif& 300% o T4 e, ©F F S ATLE

(2) 100% (b) 150% (c) 200% (d) 400%
. . EH: m"'ﬂ _ % — I-""2 ]
T (2) ; 512 = =t = (2 ) =vy=2v 2 =2 =4

22T Mg o p,=p,+100%Dp, .. SACE 100% (OIS

P1 mvy Vi

2,3 ¢ 6pF a7 fo7f 419 efQPTIaIcy 10V BT ST ALY | 3uF Yiaaibrs Siyiag “(fais

(a) 5 uC (b) 10 uC (c) 12 pC (d) 15uC
-1

AL (0) ; Coq = (3 +5+3) =1pF . Q= 10uC

.. Y9039 2AfSfe et 9= I 3pF- @9 across-Q 10puC
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38.

39.

40.

41.

t r::: S, .' I H ..
) e 1;,&; ) g;

I @0 100W — 220V mw 110V @mmmwww, mWW%m@*

(a) 25W (b) 50W (c) 75W (d) 100W
2 v2 110?

AN () ; pl———=>R—-£— %) = 484Q .. p, —-—::,l:n2 —TET"'ZSW

2mm *F 93 FVT TR (2R =1.5) 747 fFea Siea Sfses F90e 73 #A°1Es

(a) 10 >sec (b) 10~ %sec (c) 10 sec (d) 10~ 3sec
1] 2 -

THIYI: (c) ; llg =-E; Jo Cg = 2x10%°ms™! Now, t—%=:ig-‘ z:::ﬂ = 10" sec

1A Saxtaed @39 ay-aE =i s

(a) 2x1071%] (b) 2x10~16] (c) 2x10~17] (d) 2x107%9]

AMYA: (2) ; E =2 - E = 1.988x10715 =~ 10715]

(a) 5.0H (b) o 2H (c) 0.5H (d) 2.0H
SN (b) ; N = LI . X% = 0.2H.

4uF GF 49T 9 vulmmwwﬁﬁm qre & sifaa =i s 73?7

(2) 1.62x10"*Joule (b) 1.8x10™°Joule (c) 36x10>Joule (d) 8.1x10™>]Joule

FANI: (2) ; U =5 CV2 = 1.62x10™*
N SASH 0.1% FFHS FAT T IO 519 &AM Faco A7 A ST @elF = 2100 MPa  [1MPa =

10%Pascall]
(a) 2.1x105Pa (b) 2.1x10%Pa (c) 2.1x10°Pa (d) 2.1x10%*Pa

FAYA: (2) ; B=2 | =ﬁlu ;. p =By = 2.1x10%Pa

FEED S Tt e SRS [ [§7
(a) Perchloric acid (b) Chlorous acid (c) Chloric acid (d) Hypoclorous acid

FAAYI: (b) ; GFIHIRG WA C10; ; G «fie HCIO,
It @3 & 25°C SIPMIE! 8 100kPa BITsl @F To1F 14L AT %% 9 | TG0 FO GIie S(How 24R0

A7

= | <

(a) 0.57 mol (b) 0.44 mol (c) 1.6 mol (d) 5 mol
AL (a) ; Fﬂ': = F;“z P, = 100kPa P, = 101.325kPa
AR : V, = 14L V, =7

2 = P.T, T‘l = 298K Tg = 273K

100x14x273 __ 12.65779 __

= = 12.65779 L A1 G At = ——— = 0.57 mol.
T TN @1 9FF Sromiar e ?
(2) G St (b) crenIferiv (c) (rETifRfe (d) None of the above

SNYE: (¢) ; Wmﬁﬁﬁwmmﬂwﬁ—wmwww@ﬁmwﬁﬁ@mﬁ%|
06T GTEPTIIRE SFGTE (AT SRS ARt =R+

(a) 235U Zgguﬁggu (b) 4%Ar, 40K and £3Ca  (c) *¢C, "N and *°30 (d) 29Ne, 22Ne andZ3Ne
HAM: (c) ; 24C, 15N and 280 @3 &fSfow e e =8
o E wﬁﬁﬂi «fireay?

(a)H— OH > H—C = CR>H— NH, > HCH = CH,

(b) HC = CR, > H — OH > HCH = CH, > H — NH;

(c) H — NH, > H—OH > HC = CR > HCH = CH,

()H—CH=CH, >H—NH,>H-C=CR>H-OH

A (b) ; m@tﬁmmwﬁﬂwﬁlwﬁﬁﬂwwﬁ|wﬁmm A ol |




43.

43.

46.

47.

48,

49,

50.

&X 3 AN

(a) CATR (b) s (c) 3N (d) R
TN (b) 5 TR oot et = =223 /g = 55.64375k] /g

16

FORCT CFT TR i = — 2559730/ 51.459Kk] /g

30

CETCTCTR CF0a AR W = — 22245 /p = 50.459k) /g
RUTATTT O IR T = — “:"‘ k]/g = 31.35 kJ /g
C4Hg @ 0 71 7= ?
(a) 2 (b) 5 (c) 3 (d) 4
FHHE: (b) ; ()CH; — CH = CH — CH, (ii) CH, = CH — CH, — CH,

CH,
(iil) CH, — € — CH, (iv) CH, — CH, v) EJH—CHZ

CHj IlllH; - tI:Hz c:lfl/z

AT B S 3 ST @ i Rferaia 7 Rftrreatei e st s Frfiomo sriffes
(a) FIgeiifes (b) 5T IS (c) TR Afes (d) e [Ans: a]
TFT TR 9F I 57 IS Wt pifE wom T s S Aite | e A [Ans: c]
(a) A= OKIEED (c) T°R (d) I Rfer
fow Wie FTERmE (Ca)-an wiis Sy feum? |
(a) 1s%2s* 2p® 352 3p® 3d? (b) 1s2 252 2p® 352 3p® 3d° 452
(c) 1s% 2s? 2p® 352 3p® (d) 1s? 25 2p°® 352 3p* 3d? 4s2
A (b) ; Ca(20) —» 1s? 2s? 2p® 352 3p® 3d° 4s?
oo = TEni=? [Ans: a]

ﬁ j:z NH,
@ N” N () N N ©) E:H HEN\K{}H
ﬂ HENJ]\H‘J\NHI NH;.JI\/lLHHJ c H; \Nﬂ\NH y H‘Q"HANHE

moa @ digefe "wnfiE e wq 0ot Tm?

(2) Zn, Cuand Sn (b) Cu, Zn and Fe (c) Cuand Sn (d) Cu, Zn and Ni
A (d) ; S Freo=-  Zn(35 — 40%); Cu — (30 — 50%); Ni — (35 — 10%)

RIS 2e{E S 1 &, @ ods

(2) G0 QYRGS WY S 1 A (b) 70 JRCGITS “iios o 1 S

(c) 6.0.23x10%3 FeYTF YRGS _ANGF ST 1 A (d) 6.023x1023 AT RIRGICET S6fF S 1 A
SAMYA: () ; 1 mole FRAZGITE AN = YRGS AW AT S
YOAR 6.023x10%% RTF QYRGS Y =1 &

Y RfFTe 9 FF9 9FF A1

(a) L mol~ltime™? (b) time™* (c) mol L™ time™? (d) None of the above

ARIYI: (c) ; *Jers RfEFH CFa Tl S a x T, x = kty k = == ’“t'j:‘: = molL " time™?

fEeteTa-A15! SEBTa APt SIS TS [Ans: a]
(a) (CzHs),AL TiCl; (b) (Ph);Al SnCl, (c) (CH;);B. SiCl, (d) (C,Hg)3P. ZnCl,

A sad | Y A
pr n 165 § Yo i
RN} D) - . b Gy
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54.

55.

56.

S7.

S8.

59,

H,0(104.5°), H,5(92.2°), H,Se(91.0°), H,Te
(a) TFIIETH TG bp — bp RS et

(b) R AT TG SEFG IS Bl
(c) CFRIT I[N FIRETH SN 9=
(d) TFIEI TR bp — bp R @ QT ~RAF el Feifbfeh Ton wib

1L (SIESCHH) WREE C,HO0H @ CH,CO,H ¥7 &fefb 1 ce RiEFw 9w o rore Reed 9o @It -
T SRR Qlite, B Ay wiEte 771 9 S1gE R AwRg <7 (K) 397

() K== ®)K =2 ©K=1 (d) K = 4
A (d) ; C,H:OH + CH,COOH - CH,;CO0C,H; + H,0
AT I 1. 1 0 0
2 Z
ARG 1/3 lfg 2;‘3 2/‘3 k:.(.ii._=4

6l
faSta Reggras s TRiAice eaibHE A I JRTEEER Coft 39 Tret | @ Srehy age Ridr
(a) Fischer-tropsch reaction (b) Michael reaction

(c) Robinson annclation reaction (d) Diels-Alder reaction
Ni/CO

STNIYE: (a) ; -G STo[ S + Sl H, —— JR@FHEA |

Read the following passage and answer the question numbers 55 and 56 that follow:

We believe that the earth is about 4.6 billion years old. At present, we are forced to look to other bodies in the solar
system for hints as to what the early history of the earth was like. Studies of our Moon, Mercury, Mars and the large
satellites of Jupiter and Saturn have provided ample cvidence that all these large celestial bodies were bombarded by
smaller objects in a wide variety of sizes shortly after the larger bodies have formed. This same bombardment must
have affected earth as well. The lunar record indicates that the rate of impacts decreased to its present low level about
4 billion years ago. On carth, subsequent erosion and crustal motions have obliterated the craters that must have
formed during this epoch. Scientists estimate the earth's age by measuring the ratios of various radioactive elements

in rocks. The oldest earth rocks tested thus far are about 3" billion years old. But no one knows whether these are

oldest rocks on earth. Tests on rocks from the moon and on meteorites show that these are about 4.6 billion years old.

Scientists believe that this is the true age of the solar system and probably the true age of the earth.

Which of the following bodies was NOT studicd to give evidence that the earth was bombarded in its early history?

(a) Mars (b) Mercury (c) Saturn ' (d) Earth's Moon [Ans : c]
The rate of impacts of the bombardment has reduced to the current level, and is assessed by— [Ans : b]
(a) Earth's age (b) Studying the records of moon

(c) Examining the rocks (d) The crustal motion

Fill in the blank with an appropriate idiomatic expression chosen from the corresponding list provided below.
His method of classifying books seems to be : [Ans : d]
(a) a hard case (b) a false start

(c) third degree method (d) without rhyme or reason

It is very bad to when two friends are quarrelling. [Ans : b]
(2) keep the ball rolling (b) fan the flames

(c) tighten one's belt (d) jump on the bandwagon

Jamil has a during the time his father was unemployed. [Ans : c]
(a) snake in the grass (b) tall story (c) tower of strength (d) villain of the piece

He tells her lies, but she is and she doesn't believe anyone. [Ans: c]
(a) to carry coal to Newcastle (b) up to the clbow

(c) no body's fool (d) a heart to heart




